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N.B - 1. All questions are compulsory.
2. Figures to the right indicate full marks.

3. Answer to each question must begin on a new page.

Q.1 A) Fill in the blanks with the appropriate option given in the bracket: (any 10) = (10)

1. A doctor must be physically present at f@hé,. t1mt of tféating.’tﬁe ’pafi,é;it»; itf’i‘s‘;é‘ ,featﬁrﬁe of
in service. (Inconsistency/ Inseparability / Intangibility)

Services are (durable/ s,‘tof;gblﬁe‘/peri'lsihéiblé} o
Services are in natureif(tziﬁgi?blé/ingafn’giblé/retan‘gibie)

A special gift givento a consumerisa  level of service product. (Basic/ Core/Augmented)
is an example of non store retail format in India ( Electronic retailing/

Hypermarts/department stores) ; Ty :

The extent to which customers are willing to accept variations in service performance is called the

zone of (handling/tolerance/behavior) ) 7

7. If service is not delivered as per the expectations of the consumer, it is termed as

(satisfaction /dissatisfaction /delight) ‘

Al

&

8. “management of a?‘"ina')l)l?i_nvolil;és ;il\lanag_ingf;the/ footfall inside and outside the mall
( Zoning/Trafic/Ambience) . - A

9. C2Cstandsfor -model of ecommerce -~ = -
(court to Consumer / consumer to Consumer / company to Company)

10. McDonald is an‘exampleof .~ (franchising/merger/venture)

11 588 #g 'i‘sxope4of}the"maj'c)r,6ha11€:‘ﬁge\for’flogisfics in India (warehousing/government

o ipblic&/agxicultuze)\,»v ¢ A
' ) 12 Ecommerce " the cost of operating the business (reduces/increase/does not impact)

B).State whether the following statements are true or false: (any 10) (10)

1. Service performance varies across at different times.
"2, Marketing-of services is very easy due to its features.

© 3. 1tis very difficult to bring in tangibility in services.
* 4. FDIin retailing helps to increase the inflation in the market.
© ‘5. There areless number-of career opportunities available in retail sector

~.6. Retail in Indiais‘observing an increase in the number of malls opening in major parts of the country.
- 7. ATM card offers only cash withdrawal facility to the bank customers.

‘8. To access online banking account, the customer needs to go to the bank’s website.
" -9, Logistics in India do not face any challenges with regard to infrastructure

-10. Foreign banks have large number of ATM’s in India
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11. B2B model of ecommerce involves business between business and the buyer
12. Currently the major part of Indian population does not buy online due to lack of internet

penetration.

Q.2 Answer any Two of the following: - (15)

a) Define Services. Explain its scope.
b) Explain the elements of marketing mix for servie,es_." g

¢) Describe the steps involved in the process of service delivery. "

Q.3 Answer any Two of the following:
a) Describe various types of store form‘ats of reta'il i-n'India‘
b) What are the survival strategxes adOpted by unorganized retailers in India?

¢) Discuss certain pomts of ar ments m favor of Forelgn Dlrect Investment in retailing in

India.
Q.4 Answer any Two of the followmg (15)
a) What is Enterpnse resource pianmng" Explam us ments
b) What is the dlfference between a cred1t card and a deblt card"
. ©) What 1s Busmess Process Outsouremg‘? Explam its merlts
as)

Q.5 AnsWerany Two of the followmg. :

a) What is E~Commerce" Explam vanous challenges faced with reference to transition to

S ecommefce

b) What are the hmxtanons of Busmess to-Consumer (B2C) model of E-commerce?

3 c} Explam vanous functlons of Ecommerce
Q6 erte short notes on: (any 4) (20)

- a) Importance of Servwe sector in Indian economy.
by Orgamzed and unoxgamzed retailing
<) Elements of Logistics
A ) Features.of Ecommerce
>e) Marketing Research
f) Internet Banking
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